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Quiz 10 (A)

Question 1. (4 marks) Do the planes 2x—3y+8z—2=0 and 3x+5y+9z—12=0 intersect?
If so find the intersection.
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Question 2. ( 2 maiks ) Fmd the equations of the line that passes through the pomt P(3,—4,0) and
is paralle] to both planes in question 1.
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Question 3. (4 marks) Find the equation of the plane containing the lines

(x,3,2) = (3+7t,4+2t,1—1) and (x,32) = (Tt,~2+2t,5—1)
" ol "(’ [y - e
Yl 3,9,0) s o e AlsT ame” | Py ( 0,-2,5Y 13 on e

-

Ce5] ond T L—I"Jef" e D\K?2.~T" (/'“?) 3 m(D } ({\)
> (R 57T Lmb Vel e T e st ol «\;‘-' - Gz} 2) ﬁ />

A (1721, -1 fff) /“3' ”B = (-2, 29, 9”")

I
COER AT 0F Pt ! g «—zb'g F2Catd =g
’ ! . ™ = o -

O +25(-2)+36(5) 1dzo = A= -12e
~AXF 254 426= —120 = o



